@\

TELEDYNE TEKMAR

A Teledyne Technologies Company

Item No.

Glassware

Heaters

Fittings

14-2337-024
14-2334-024
14-2336-024
14-2333-024
14-2052-024
14-2053-024
14-8921-000
14-8922-000
14-8923-000
14-8924-000
14-8925-000
14-8926-000
14-4826-224
14-4007-224
14-4006-024
14-4007-024

14-7806-000
14-8785-000
14-8788-000
14-8789-000
14-8789-100
14-8790-120
14-8791-100
14-8791-200
14-8920-000
14-8920-100
14-9035-000
14-9035-100
14-8788-200
14-8790-420

14-9024-016
885-291

12-0041-016
12-0044-016
12-0069-016
12-0338-016
14-0053-016
14-8470-016
14-1758-116
14-8905-116
14-6412-016
12-0070-016
14-0051-016
14-0158-016
14-0216-016

4736 Socialville Foster Rd.
Mason, OH 45040

Description

Frit Sparger, 5mL, 1/2" Neck Tekmar

Frit Sparger, 25mL, 1/2" neck, Tekmar

Fritless Sparger, 5mL, 1/2" Tekmar

Sparger, 25mL fritless, 1/2" (glassware only)
Sparger, 5mL needle, 1/2" (glassware only)
Sparger, 25mL needle, 1/2" (glassware only)
Sparger kit, 5mL fritted

Sparger kit, 25 mL fritted

Sparger kit, 5 mL fritless

Sparger kit, 25 mL fritless

Sparger kit, 5 mL needle

Sparger kit, 25 mL needle

Sparger kit, 25 mL fritless w/ side-arm, Velocity XPT
Sparger kit, 25 mL frit w/ side-arm, Velocity XPT
Sparger, 5mL frit w/ side arm (glassware only)
Sparger, 25mL frit w/ side arm (glassware only)

Assy, RTD (24") Temp Sensor for Soil Valve, Mount
Oven RTD assembly

Oven Cartridge Heater 110v (XPT)

Mount Cartridge Heater 110v (XPT)

Mount Cartridge Heater 230v (XPT)

Transferline Heater assembly, 72", 115v

Trap Heater assembly, 110V

Trap Heater assembly, 230V

Sample Heater Assembly for all glassware types, 110V
Sample Heater Assembly for all glassware types, 220V
FFC Cartridge Heater 120V

FFC Cartridge Heater 230V

Oven Cartridge Heater 240V (XPT)

Transferline Heater assembly, 72", 220V

Manifold Frit, stainless steel, to vent valve
Check valve 1/8"

Ferrule, teflon, 1/4", glassware

Ferrule set, 1/8", brass, set

Nut, 1/8", brass

Union, bulkhead, 1/8", SS

Elbow, male, 1/8", NPT, brass

Plug Nut, 1/4-28, Tefzel, Flat Bottom

Tee, with graphite ferrules

1/8" to 1/16" Union Silcosteel Coated w/ ferrules (No 1/8" ferrule)

Nut, male, stainless steel, 1/16", 1.5" long, SS
Tee, 1/8", Brass

Union, 1/16-1/16 SS

Ferrule, 1/16", SS, Set

Female luer connector for sample valve

lof4

Velocity XPT
Spare Parts List
April 2010 - Rev B

www.tekmar.com



@\

TELEDYNE TEKMAR

A Teledyne Technologies Company

Velocity XPT
Spare Parts List
April 2010 - Rev B

14-0241-016 Ferrule, 1/16", SS

14-0243-016 Nut, 1/16", short, SS, Valco

14-0264-016 Union, bulkhead, 1/16", SS, Upchurch
14-1301-016 Ferrule, 1/2" Set, Teflon

14-1590-016 Nut, plug, Valco

14-2261-016 Union, 1/4 -1/16 Reducing, SS, W/ Teflon Fer
14-2549-016 Elbow, 90 degree, tube, 1/8 NPT to 1/16
14-2792-016 Nut, Plug, 1/16", Brass

14-3123-016 Ferrule, 1/16, Upchurch ETFE (081-042)
14-3295-016 Nut, 1/16", male, SS, Swagelok

14-3296-016 Nut, 1/16", SS, Swagelok, plug

14-3354-016 Nut, 1/2" Knurled Swagelok

14-4050-016 Ferrule, 1/8 Fitt 1/8 Tube GVF

14-8914-016 Nut, 1/8 Black Delrin Upchurch

14-8915-016 1/8" Manifold Bushing, Delrin

14-8916-016 Nut, Black ,Upchurch, 1/16 Long
14-8919-016 1/8" TO 1/16" Graphite Vespel Reducing Ferrule
14-8918-016 1/8" TO 1/8" Bulkhead union silcosteel coated

14-8674-000 Mount assembly, Silcosteel w/ fittings (no heaters)
14-8671-000 4-way union, Silcosteel, includes fittings and capnut

14-9042-016 Sample Mount needle ferrule, 1/16"
14-9043-016 Sample mount needle nut, 1/16"
Electronics
14-0298-039 Cord, power, universal, 115V
14-5484-034 Fuse, 8 amp, 5 x 20mm, 250 V, Type T
14-7835-090 Temperature Control Board
14-7837-190 Microprocessor (CPU) Board
14-8780-090 AC Output Board
14-8781-190 PCB, DC Control
14-8782-090 Power Supply
14-8793-086 AC Power Cable
14-8797-086 Cable, Assembly, CPU to SPI Interface.
14-8798-086 25 PIN DC board to Back Panel
14-8800-086 Temperature Board DC Cable Assembly
14-8876-086 Mass Flow Controller Cable
14-5028-039 220V Power Cable
14-5107-086 RS232 Cable Assembly (included with unit)
14-6453-034 Fuse 4.0A, 5X20 MM T-4.0
14-8794-086 DC Power Cable
14-8796-086 Cable Assembly, IRDA to CPU
14-8796-186 Short LNET Cable
14-8838-057 AC Troubleshooting LED
080-613 Battery, Lithium, SIZE 2032
14-9363-100 Assy, Cooling Fan, Velocity
14-5882-034 Fuse, 2 pico amp
14-9108-034 Fuse, 8 pico amp
14-9428-035 Ferrite filter assy
Valves
14-0036-050 Sample valve, 3-port
Discrete 3-port Solenoid Valve Assembly, w/ fittings (Drain or Eliminator
14-8902-000 Valves)

4736 Socialville Foster Rd.
Mason, OH 45040

20f4

www.tekmar.com



Velocity XPT
Spare Parts List
April 2010 - Rev B

"“. TELEDYNE TEKMAR

A Teledyne Technologies Company

14-8901-450 LED Cable, Drain Valve
14-8901-550 Valve LED Power Cable, W/3" LED Ext.
14-8908-000 Trap Injection Port w/ septa (XPT)
6-port Valve Assembly, small body, 24 VDC includes Valve, fittings, actuator,
14-9126-050 controller and cable
14-9126-150 6-port Valve small body w/ slider.
14-9126-350 Rotor, 6-port valve, small body after SN US04119002
14-9126-250 6 port actuator only, SM body valve
14-6292-350 Controller Box, Valve, 6 Port, Velocity
14-8901-600 Valve Manifold Assembly w/ 3-port Soleniod Valves, Fittings, and Cables
14-8906-050 Mass Flow Controller Assy
14-8901-750 3-port solenoid valve for manifold
Miscellaneous
14-8900-074 User Manual, Velocity XPT
14-2440-006 Ceramic Standoff for valve oven plate
14-8834-000 Guardian Foam Sensor option
14-8834-100 Guardian Foam Sensor and Eliminator Retrofit Kit
14-8900-117 Shipping Carton, Velocity XPT
14-8909-043 Thermal Green Septa for Trap Injection Port
VOC Teklink Control Software capable of controlling Velocity XPT Purge and
14-8898-075 Trap Concentrators with AQUATek 70/SOLATek 72 autosampler systems.
14-9053-080 Side Latch, snap-in for top lid
14-8748-094 Sparger Shield, plastic
14-8856-000 Assy, 10mL Antifoam 1520
14-8900-PRT  Velocity Refurb Kit, parts only
14-8900-RFB  Velocity Refurb Kit, with labor
BR-8900-RFB  Velocity Refurb Kit with labor, in house

14-8900-PTLV

Velocity refurb kit, w/out 6-port valve

15-0439-000 External Pressure Regulator

Traps
14-5864-003 Trap, VOCARB 3000
14-5865-003 Trap, VOCARB 4000
12-0083-003 Trap, Tenax (#1)
12-0084-003 Trap, Tenax/Silica gel (#2)
14-0124-003 Trap, Tenax/Silica gel/charcoal, 12" x 1/8" (#3)
14-1457-003 Trap, Tenax/charcoal, 12" x 1/8" (#4)
14-2366-003 Trap, OV-1/Tenax/Silica gel/charcoal, 12" x 1/8" (#5)
14-1755-003 Trap, OV-1/Tenax/Silica gel, 12" x 1/8" (#6)
14-3347-003 Trap, OV-1/Tenax, 12" x 1/8" (#7)
14-3928-003 Trap, Carbo B/Carbo S (#8)
14-8911-003 DryFlow Moisture Trap (W)
14-5866-003 Trap, BTEX
14-1168-003 Trap, blank, 12" x 1/8" (#0)
14-4045-003 Trap, GLT, Tenax (G1)
14-4046-003 Trap, GLT, Tenax/Silica gel (G2)
14-4047-003 Trap, GLT, Tenax/Silica gel/charcoal (G3)
14-4164-003 Trap, GLT, blank
14-9333-003 Trap, BTEX + MTBE
14-9908-003 #9 Trap, straight (XPT)

4736 Socialville Foster Rd.
Mason, OH 45040

30f4

www.tekmar.com



@\

Tubing

GC Interface Cables

TELEDYNE TEKMAR

A Teledyne Technologies Company

14-1168-103

14-7630-002
14-7634-002
14-8675-002
14-8997-000
14-8927-002
14-6934-002
14-8928-002
14-8938-002

14-6689-086
14-2991-000

14-4652-086

14-4188-086

14-2993-000
14-7396-086
14-3233-000
14-5397-086

14-4610-086

14-4610-186
14-4938-086

14-3147-000
14-7397-086
14-7397-186

14-8417-000
14-3233-200
14-9754-086
14-8477-286

4736 Socialville Foster Rd.
Mason, OH 45040

Velocity XPT
Spare Parts List

April 2010 - Rev B
Blank 1/8" x 12" Silcosteel lined trap (XPT)

Tubing, 1/8" OD, Red, Translucent (per inch)
Tubing, 1/8" OD, Blue, Translucent (per inch)
Mount Sample Tubing Assembly w/ Fittings
Forward Focusing Chamber Assembly w/ Fittings
PEEK Tubing, 1/16" OD, Green (per foot)

PEEK Tubing, 1/16" OD, Natural (per foot)
PEEK Tubing, 1/16" OD, Orange (per foot)
Tubing, Silcosteel, 1/16"0OD x .04" ID (no siloxane)

Interface, HP 6850, 6890, 7890 GC
Interface, HP 5890 GC

Interface, HP 5890 w/5970 MSD and Unix-B or MS-DOS software, HP
5890/5971/5972 MSD and Unix-B or MS-DOS software and HP 5890/5989 MS
Engine

Interface, HP 5890 w/5970 MSD and Unix or Pascal based software. Note:
This cable requires the HP A111 (HP P/N 05990-60111) or A211 (HP P/N 05990-
60211) accessory card and internal accessory cable (HP P/N 05987-60158) if
using the Pascal software. If using Unix software the internal accessory cabl
(HP P/N 05987-60158) only is necesary.

Interface, HP 5995/96/85/87/88/92 GC/MS with HP-1000/RTE GC/MS Software.
Interface, Varian 3800/3900
Interface, Perkin-Elmer 8000 Series/Autosystem, Clarus.

Interface, two Tekmars on one Perkin-Elmer 8000 Series/Autosystem
Interface, Shimadzu GC 14A/15A/17A GC 14A w/QP 1000 EX MSD and GC 14A
w/QP 2000 MSD, also includes 1/16" to 2mm unions, needs Shimadzu P/N 221-
34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A wQP 1000 EX MSD and GC 14A
w/QP 2000 MSD, needs Shimadzu P/N 221-34280-91

Interface, Carlo Erba Mega and Vega Series/Fisons 8000

Interface, general purpose/HNU 301/321/421 (Valve driver option necessary
from HNU))

Trace 2000/Trace GC Ultra Interface cable w/ 1/16" to 2mm unions

Trace 2000/Trace GC Ultra Interface cable

Duet™ High Throughput Interface. Interfaces two Teledyne Tekmar VOC
systems with any GC or GC/MS system.

PE Clarus 500 Interface Cable

Shimadzu 2010-2014 Interface Cable

Cable, Archon-Tekmar Interface

4 of 4 www.tekmar.com



